
Answer on Question #69021 – Math – Statistics and Probability 

Question 

If 50 (FIFT) classes of 20 (TWENTY) students are randomly selected, what is the 
probability that 10 (TEN) classes have no left-handed students?  
 

Solution 
 
 We assume that 8% of students are left handed.  
  
𝑃( no one in a class is left − handed) =  0.9220 =  0.1887 
𝑃(at least one left − handed in a class) = 1 − 0.1887 =    0.8113 
 
The required probability is 
  
𝑃(10 𝑐𝑙𝑎𝑠𝑠𝑒𝑠 ℎ𝑎𝑣𝑒 𝑛𝑜 𝑙𝑒𝑓𝑡 − ℎ𝑎𝑛𝑑𝑒𝑑 𝑠𝑡𝑢𝑑𝑒𝑛𝑡𝑠) =     
= 𝐶50

10  ∗  0.1886910  ∗  0.8113140 = 0.1370. 
  
Answer: 0.1370 .   
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